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I, =1 +Ad? =4+ (12)(1)* =16cm*

l, =1, +Ad2 =36+ (12)(3)° =144cm*




1S 30 2 shu o ! oo ©

6325 5 ool ol 4 |y b o] ¢ 0S5 1o paban cw sl Glow Al sl V
dwlee L5 8,90 Hemme ) S |y Lo )] 51 STy oyl los o < 08,5

oS e g K0S b Soles 0 s

Iy = (Lo +AA) + (g, +Ad,) +..

I, =(,6, +AA) + (16, +AM) +...
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|, =1 . +Ad?=682.6+(32)(8)> = 2730.6cm*
l, =1 ¢ +Ad? =10.6+(32)(1)* = 42.6cm*
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3 3
_fb = (2)(14) =457.3cm*

|, =1 +Ad?=9.3+(28)(1)? =37.3cm*
l, =1, +Ad?=457.3+(28)(9)* = 2725.3cm*




A I LW
I, =1, —I—Adl2 = 682.6-!—(32)(8)2 = 2730.6cm*
|, = |yG —I—Ad22 =10.6+(32)(1)2 = 42.6cm*

A I OV BV
I, =1 —I—Adl2 = 9.3-!—(28)(1)2 =37.3cm*

l, =1, +Ad?=457.3+(28)(9)* = 2725.3cm*

P W= I LW
|, =2730.6+37.3=2767.9cm 4

|, =42.6+2725.3=2767.9cm*




